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QUESTION 1

A customer wants to confiure a larie SRDF deployment between two VMAX3 arrays. The customer has many diferent
applicatons and workloads. They want to separate each into its own SRDF iroup. What is the maximum number of
SRDF iroups this confiuraton will support?

A. 64

B. 96

C. 184

D. 250

Correct Answer: D

QUESTION 2

When data consistency is not a requirement, which SRDF mode is preferred when replicatni larie volumes of data?
A. SRDF/DM

B. SRDF/A

C. SRDF/S

D. SRDF/CG

Correct Answer: A

QUESTION 3

A storaie administrator uses Unisphere for VMAX to provision new storaie from a VMAX3 array. Which Workload Type
is recommended for a combinaton of small and larie block I/O workload?

A. None

B. DSS

C. OLTP

D. Optmiied

Correct Answer: A

QUESTION 4

A company has two VMAXS3 arrays installed at two diferent sites. VMAX3 eNAS is confiured on both arrays
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with IP network connectvity between them. The company wants to replicate fle data between the two
VMAXS3 arrays.

Which EMC technoloiy will meet the requirement without additonal hardware?

A. Replicator

B. TimeFinder

C. SRDF

D. RecoverPoint

Correct Answer: A

QUESTION 5

A customer wants to know if they need to set the SCSI3_persist_reserve atribute for their VMAX3 devices used in a
clustered environment. What informaton should be provided?

A. All VMAX3 thin devices have the atribute enabled by default.
B. Atribute has been removed for VMAX3.

C. Atribute will need to be manually set for each device.

D. Atribute should not be used for clustered environments.

Correct Answer: A
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